ST. ANDREWS SCOTS SCHOOL

Adjacent Navniti Apartments,
L.P. Extension, Patparganj., Delhi-110092

(Session- 2025-2026)
Worksheet
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Q.1 Choose the correct option :

1. How many 5 rupee coins will you get for rupees 50? ?

(a) 15 (b) 10 ()5
2. 82 rupees 75 paise = X
(a) X 82.00 (b) 8275 paise (c) 82.75
Q.2 Convert :
1. 97.40 into paise 2. 6250 paise into rupees
Q.3 Solve :

1. 28 rupees 45 paise from 43 rupees 25 paise.

Q.4 Complete the bill and find total amount to be paid :

S no. | Items Quantity | Rate per item(in ) Amount (in )
1. | Chips packets 2 20.00
2. | Biscuit packets 4 15.00
3. | Cupcakes 10 30.00
Total =

Q.5 Cost of 5 balls is ¥ 72.50. Find the cost of 1 ball .



